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sub: (ZHS 401) Mathematics for cornputer Engg, & Information Tech.

TIFIE:03 Hrs

Inst!'uctions I

1" Ail questions are compuisory,
2. trVrite answer of each section in separate ansi^i er bool<s.
3. Figures to the right indicate marks of questions.
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TOTAL MARKS : 60
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{A) Expand f(x) = x + xz as

Hence deduce that : 
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Express the given furrction in terms of unit step function and hence obtain its
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t{r)(A) An alternating current after passing through a rectifier ha.s the form ,

i ( x ) - { l os i nx ;0<x<n
" - t  o  ;  n<x<Zn

16 is the maximum current & period is 2n . Express i(x) as a Fourier series

(B)  Obta in Hal f rangeCosineser ies for  f (x)  = x  in therange 0 < x  SZ .

(C )  Ob ta inFou r i e r se r i es f c r  r / r " t *  ( 7 *x  ;  - 1  <x<0r \n / ' - ( t - : < ;  
0<x< j .

Que - 3 Atfernpt any two

(A)  Ohta in the four ier t ransfor i r r  o f  ,  i fx )  ={1 ;  l r l  <  1- \ ' - l  
t 0 ; i x !  > f
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2y = 19 *:it ; y(0) = 5 by Lapi;ice transform rnethod .
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(C) Evaluate : L-1
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(x - y)( x'
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(x? + iy)

F-ir:d the biiinear transformation which
po in t s  W= i , 0 , - t

Find a rootof  the equat ion :  xsinx + cosx = 0
Ira'o decimal piaces.

anai;,rtic function of z then find f(z) if t

* 4xy- + yz) .

dz ; a4}ong ii) rhe Iine y = a anel (ii) y = xZ
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E,.raiuate : I
t

E',

(x0)
maps the points Z = 1, , i  ,- l  onto the

using Bisecrion method up to (04)

Fiva"luate , f 
t?tIi j t 'n ttt r,

J^ (r-  l )r ; l )  oz ;  vrhere C is the circle :  lz l  -  5
a
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Using Newton Raphson method ; Find a reai root of

xa -x -9=0  up to  th ree  dec ima l  p laces '

Apply 4th order R - K method to find approximate

dv  v -x
g iven tha t ;+ -o -  dx  y+x

Find a real rclot of the equatiolt , x3 - 2x

up tc three decimal piaces.

the equation :

val i ie  of  y  at  x  -  4 .2;

marks

Steam pressure (P) and

by Lagranges interpolation

- $ = 0 bv False - Position method

Trapezoidal 8* Sirni:son's 3/B rule .

appi"cxirnate value cif y corresponding to x = 1"{J :

I { 0 } : 1 '
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Evaluate :

l.Jsing Eulers

Given that :
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dv
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Atternpt any two

Apply Causs - Seidal methoC to solve :

Fi:om the following table ; estimate the

between 40 and 45 .

nu

15x+2 .v*z - lZ
lx+4v  *Zz . -1 ,5
lx *Zy*52=20

mber of students who obtained

'fhe following table

Temperature (T).

formula

gives some relations betn,een

Find the pressure at temp. 372

70  i  70 -80

No. of Srud.

191 .0  |  
' 2L2 .5
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